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#define FLASHCOEFBASEQ@DB CONFIG_PREFERENCES+0x60
#define FLASHCOEFBASE2@DB CONFIG_PREFERENCES+QxE@
#define FLASHCOEFBASE4@DB CONFIG_PREFERENCES+0x160

//retrieve correct coefficients from FLASH
switch(infoblk.gain)

{

case @: coefptr = (int *) FLASHCOEFBASEQ@DB;
break;

case 1: coefptr = (int *) FLASHCOEFBASEZ2QDB;
break;

case 2: coefptr = (int *) FLASHCOEFBASE4QDB;
break;

default: coefptr = (int *) FLASHCOEFBASEQ®@DB;
break;

}

cl = GetValFromFlash(coefptr+0x04,3);
c2 = GetValFromFlash(coefptr+0x08,3);
c3 = GetValFromFlash(coefptr+0x@cC,3);
c4 = GetValFromFlash(coefptr+0x10,3);
c5 = GetValFromFlash(coefptr+0x14,3);
c6 = GetValFromFlash(coefptr+0x18,3);
c7 = GetValFromFlash(coefptr+0x1C,3);
c8 = GetValFromFlash(coefptr+0x20,3);
c9 = GetValFromFlash(coefptr+0x24,3);
c8divcd = ((float) c8 / (float) c9);

arawpos = (*(p+2) + 0x8000) & OxFFFF;
brawpos = (*(p+3) + 0x8000) & OxFFFF;

//calculate amod, bmod
if (polarity) //positive
{

amod
bmod
}
else
{
amod = OxFFFF - arawpos;
bmod = OxFFFF - brawpos;
}

arawpos;
brawpos;

//calculate acor,bcor
acor = (float) cl*(c2 + amod);
bcor = (float) c8divc9 * (c4 + bmod);

//calculate ratio
ratio = ((float) (acor - bcor)) / ((float) (Cacor + bcor));

//calculate position
pos = (c5*ratio) + (c6*ratio*ratio*ratio) + c7;
posint = (int) pos;



